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A good discussion of a large variety of filters can be found in:

J.T. Taylor and Q. Huang, eds., CRC Handbook of Electrical Filters. Boca
Raton, Fla: CRC Press, 1997.

A comprehensive compilation of various active filter circuits and design proce-
dures is given in:
D. Lancaster, Lancaster’s Active Filter Cookbook, 2nd ed. Burlington,
Mass.: Newnes, 1996.
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A very readable treatment of Fourier analysis can be found in
A. Pinkus and S. Zafrany, Fourier Series and Integral Transforms.
Cambridge: Cambridge University Press, 1997,
Finally, for those interested in learning more about muscle research, including
electron microscopy of tissue, an excellent treatment can be found in

1. Squire, The Structural Basis of Muscular Contraction. New York:
Plenum Press, 1981.
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